ROOMSTO G®

KIDS

Manufactured for Rooms to Go

MODERN COLORS COLLECTION

THANK YOU FOR YOUR PURCHASE

WARNING DANGER
Failure to follow these warnings and assembly instructions could result in serious
injury or death. To help prevent serious or fatal injuries from entrapment or falls:

- Read all instructions before assembling bunk bed and keep these instructions for future reference.

- Before each usage or assembly, inspect bunk bed for damaged hardware, loose joints, missing
parts, or sharp edges. DO NOT Use bunk bed if any parts are missing or broken.

- DO NOT Use substitute parts. Contact your local Rooms To Go or visit www.ROOMSTOGO.COM
for replacement parts and instructional literature if needed.

- Follow the information on the warnings appearing on the upper bunk end structure and on the carton,
DO NOT REMOVE WARNING LABEL FROM BED.

- Always use the recommended size mattress or mattress supports, or both to help prevent the likelihood
of entrapment or falls.

- Ensure thickness of mattress and foundation combine does not exceed 10 inches (255mm) and
mattress surface is at least 5 inches (127mm) below upper edge of guardrails.

- Do not allow children under 6 years of age to use the upper bunk.

- Periodically check and ensure that the guardrail, ladder, and other components are in their proper
position, free from damage, and that all connectors are tight.

- Do not allow horseplay on or under the bed and prohibit jumping on the bed.

- Limit top bunk use to one person.

- Always use the ladder for entering and leaving the upper bunk.

- Use of night light may provide added safety precaution for a child using the upper bunk.

- Always use guardrails on both long sides of the upper bunk. If the bunk bed will be placed next to
the wall, the guardrail that runs the full length of the bed should be placed against the wall to
prevent entrapment between the bed and wall.

- The use of water or sleep flotation mattress is prohibited.
- This bunk bed meets all the requirements of ASTM 1427-19.

STRANGULATION HAZARD:
Never attach or hang items to any part of the bunk bed that are not designed for
use with the bed; for example, but not limited to, hooks, belts, and jump ropes.

2/28/2024 AlS12732-0 Page 1 of 66




CONFIGURATIONS

Choose your configuration, read all the instructions, identify all components, and be sure you have all parts prior to assembly

Reference page 4-8 for assembly steps

Reference page 9-13 for assembly steps

Reference page 14-18 for assembly steps

TWIN LOW LOFT W/STEP END
3511123P IRON ORE 3511124P SLATE BLUE
3511125P LIGHT GRAY 3511126P WHITE 3511127P PINK

TWIN LOW LOFT W/STEP END & CHEST
3521123P IRON ORE 3521124P SLATE BLUE
3521125P LIGHT GRAY 3521126P WHITE 3521127P PINK

TWIN LOW LOFT W/STEP END & 2 CHEST
3541123P IRON ORE 3541124P SLATE BLUE
3541125P LIGHT GRAY 3541126P WHITE 3541127P PINK

Reference page 19-23 for assembly steps

TWIN LOW LOFT W/STEP END, CHEST, BOOKCASE
3531123P IRON ORE 3531124P SLATE BLUE
3531125P LIGHT GRAY 3531126P WHITE 3531127P PINK

Reference page 24-28 for assembly steps

TWIN LOW LOFT W/STEP END, CHEST & DESK
3551123P IRON ORE 3551124P SLATE BLUE
3551125P LIGHT GRAY  3551125P WHITE 3551127P PINK

Reference page 29-34 for assembly steps

TWIN LOW LOFT W/STEP END,CHEST,BOOKCASE&DESK
3561123P IRON ORE 3561124P SLATE BLUE
3561125P LIGHT GRAY 3561124P WHITE 3561127P PINK

Reference page 35-39 for assembly steps

FULL LOW LOFT W/STEP END
3611123P IRON ORE 3611124P SLATE BLUE
3611125P LIGHT GRAY 3611126P WHITE 3611127P PINK

Reference page 40-44 for assembly steps

FULL LOW LOFT W/STEP END & CHEST
3621123P IRON ORE 3621124P SLATE BLUE
3621125P LIGHT GRAY 3621126P WHITE 3621127P PINK

Reference page 45-49 for assembly steps

FULL LOW LOFT W/STEP END & 2 CHEST

3641123P IRON ORE 3641124P SLATE BLUE

3641125P LIGHT GRAY 3641126P WHITE 3641127P PINK

2/28/2024

AlS12732-0

Page 2 of 66




CONFIGURATIONS

Choose your configuration, read all the instructions, identify all components, and be sure you have all parts prior to assembly

Reference page 50-54 for assembly steps

FULL LOW LOFT W/STEP END, CHEST, BOOKCASE

3631123P IRON ORE 3631124P SLATE BLUE

3631125P LIGHT GRAY 3631126P WHITE 3631127P PINK

Reference page 55-60 for assembly steps

FULL LOW LOFT W/STEP END, CHEST & DESK
3651123P IRON ORE 3651124P SLATE BLUE
3651125P LIGHT GRAY 3651126P WHITE 3651127P PINK

Reference page 61-66 for assembly steps

FULL LOW LOFT W/STEP END,CHEST,BOOKCASE&DESK
3661123P IRON ORE 3661124P SLATE BLUE
3661125P LIGHT GRAY 3661126P WHITE 3661127P PINK

2/28/2024

AlS12732-0

Page 3 of 66




PARTS LIST

3511123P TWIN LOW LOFT W/STEP END __ D- IRON ORE
RTG SKU # STYLE # ITEM DESCRIPTION
36511233 | 12D-163 REVERSIBLE LOW LOFT STEP UNIT
35911230 | 12D-164 TWIN LOW LOFT SIDE PANELS
36211237 | 12D-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
35811238 | 12D-702 TWIN LOW LOFT BUNK END
36811289 | 100-170 12 PC TWIN SLAT ROLL
3511124P TWIN LOW LOFT W/STEP END __ E- SLATE BLUE
RTG SKU # STYLE # ITEM DESCRIPTION
36511245 | 12E-163 REVERSIBLE LOW LOFT STEP UNIT
35911242 | 12E-164 TWIN LOW LOFT SIDE PANELS
36211249 | 12E-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
35811240 | 12E-702 TWIN LOW LOFT BUNK END
36811289 | 100-170 12 PC TWIN SLAT ROLL
|| 3511125P TWIN LOW LOFT W/STEP END __ G- LIGHT GRAY
U RTG SKU # STYLE # ITEM DESCRIPTION
36511257 | 12G-163 REVERSIBLE LOW LOFT STEP UNIT
35911254 | 12G-164 TWIN LOW LOFT SIDE PANELS
o NL":"::_:::?::;:E :::l::;ﬁ_[:; L%#ﬁ_sfﬂn;'ﬁzmzs 36211251 12G-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
35811252 | 12G-702 TWIN LOW LOFT BUNK END
ARE CONNECTED TOGETHER 36811289| 100170 | 12 PC TWIN SLAT ROLL
3511126P TWIN LOW LOFT W/STEP END __ W- WHITE
PARTS LIST g TY PARTS LIST (I g TY RTG SKU#| STYLE# ITEM DESCRIPTION
I I
s 36511269 12W-163 REVERSIBLE LOW LOFT STEP UNIT
2 Pes ]L e L 35911266 | 12W-164 | TWIN LOW LOFT SIDE PANELS
[ 1 Pes 36211263 | 12W-732 | 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
e 35811264 | 12W-702 | TWIN LOW LOFT BUNK END
~L =.=J 36811289 | 100-170 12 PC TWIN SLAT ROLL
2 Pes Low loft steg unit
’, 1 Pcs
1Pcs | 3511127P TWIN LOW LOFT W/STEP END __ A- PINK
T RTG SKU # STYLE # ITEM DESCRIPTION
Slat roll Right step back Banel 36511271 12A-163 REVERSIBLE LOW LOFT STEP UNIT
E ? - » 35911278 | 12A-164 TWIN LOW LOFT SIDE PANELS
it : 36211275 | 12A-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
1 Pcs 1 Pes 35811276 | 12A-702 TWIN LOW LOFT BUNK END
7/ 36811289 | 100-170 12 PC TWIN SLAT ROLL
Iy U e
Low loft bunk end Left steB back ganel
1 Pcs
Steg angle side Eanel
| I
1
Jj —
; 1 Pcs —————— SIS NEEDED
i =il Phillips screwdriver (not included)
Step side panel 0::):’
4 mm allen wrench (included)
5 mm allen wrench (included)
2/28/2024 AlS12732-0 Page 4 of 66




HARDWARE

LIST

T2-732 2TC OIOE RAILS W/ 2 TULL LENG TH RAILS

T2 a0 LOW Lo S EP o

Hardware pack
location

O

Gold knobs  3x

B

5 mm allen wrench 1x

J

4 mm allen wrench 1x

5/16-18x40mm bolt 14x

T00-170  127°C TWIN SLAT ROLL

Hardware pack
location

1

6 x 11/4" Screw 10x

12-164  TWIN LOW LOF T SIDE PANELS

E

1/4-20X30mm bolt 2x =

Hardware
location

Installed

Hardware pack

location

Hardware
location

Installed

Hardware
location
Installed

2/28/2024 AIS12732-0

Page 5 of 66




ASSEMBLY INSTRUCTIONS

TIPS : SEE ILLUSTRATION BELOW
1- Use the long end of the allen wrench to fasten bolts locsely and quickly.
2- Use the short end of the allen wrench for final tightening

TIPS #1

_ﬁ %\/X TIPS #2 /(X
| Y

: =%
= L)

FIRST DETERMINE THE CONFIGURATION THAT FITS YOUR ROOM

STAIRS ON THE RIGHT STAIRS ON THE LEFT

STEP1

STEP 2

Remove all pre-installed bolts from both sides (10 pcs)
save them for next steps.

align holes then fasten with previously removed bolts.

2/28/2024 AlS12732-0

Page 6 of 66




ASSEMBLY INSTRUCTIONS

{— B

Removed bolts from side panel (2), and from step back panel (2).
Repeat process for angle side panel. save them for next step.
STEP 6

@ FOR STAIRS ON RIGHT

FOR STAIRS ON LEFT

-
~

~——-

N‘___L—v‘"

Assemble step back panel -
STEP 7 Lo RN e ) A
4 \\
) e § Y (= B

Assemble side rails. with 1 1/4 screws then fasten the rest of the pre-bored slats.
2/28/2024 AlIS12732-0

Page 7 of 66




ASSEMBLY INSTRUCTIONS

STEP 9 l— B

mar A

U I
Assemble guardrails and tighten all bolts.
MAKE SURE ALL BOLTS ARE TIGHTENED COMPLETELY

Use only correct mattress dimensions and Slat roll:
Twin size mattress- 74" - 75" long and 37-1/2" - 38-1/2" wide
Twin size Slat roll- 75 1/4™ long and 339" wide
Full size mattress- 74" - 75" long and 52-1/2" - 53-1/2" wide
Full size Slat roll- 75 1/4" long and 54" wide

PLEASE CONTACT YOUR RETAIL STORE WITH SERVICE OR PARTS REPLACEMENT REQUEST

2/28/2024 AlS12732-0 Page 8 of 66




PARTS LIST

TWO PEOPLE ARE NEEDED TO ASSEMBLE
DO NOT TIGHTEN COMPLETELY UNTIL ALL PIECES
ARE CONNECTED TOGETHER

3521123P TWIN LOW LOFT W/STEP END & CHEST  D-IRON ORE

RTGSKU#| STYLE# ITEM DESCRIPTION

36511233 | 12D-163 REVERSIBLE LOW LOFT STEP UNIT
35911230 12D-164 TWIN LOW LOFT SIDE PANELS

36211237 | 12D-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
35811238 | 12D-702 TWIN LOW LOFT BUNK END

36811289 100-170 12 PC TWIN SLAT ROLL

36611235| 12D-403 3 DRW CHEST

3521124P TWIN LOW LOFT W/STEP END & CHEST E- SLATE BLUE

RTG SKU#| STYLE# ITEM DESCRIPTION

36511245 12E-163 REVERSIBLE LOW LOFT STEP UNIT
35911242 | 12E-164 TWIN LOW LOFT SIDE PANELS

36211249 12E-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
35811240 12E-702 TWIN LOW LOFT BUNK END

36811289 100-170 12 PC TWIN SLAT ROLL

36611247 | 12E-403 3 DRW CHEST

3521125P TWIN LOW LOFT W/STEP END & CHEST G- LIGHT GRAY

RTGSKU#| STYLE# ITEM DESCRIPTION

36511257 | 12G-163 REVERSIBLE LOW LOFT STEP UNIT
35911254 | 12G-164 TWIN LOW LOFT SIDE PANELS

36211251| 12G-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
35811252 12G-702 TWIN LOW LOFT BUNK END

36811289 100-170 12 PC TWIN SLAT ROLL

36611259 | 12G-403 3 DRW CHEST

3521126P TWIN LOW LOFT W/STEP END & CHEST _ W- WHITE
PARTS LIST g Y PARTS LIST (Ig TY RTG SKU#| STYLE# ITEM DESCRIPTION
I —
—- 36511269 | 12W-163 REVERSIBLE LOW LOFT STEP UNIT
2 Pes JL i -L 35911266 | 12W-164 TWIN LOW LOFT SIDE PANELS
7 o [ 1 Pcs 36211263 | 12W-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
e 35811264 | 12W-702 TWIN LOW LOFT BUNK END
s |1 =_=J 36811289 | 100-170 12 PC TWIN SLAT ROLL
2 Pes Low loft steg unit 36611261 | 12W-403 3 DRW CHEST
8 ’ 1 Pcs
1 Pes | 3521127P TWIN LOW LOFT W/STEP END & CHEST __ A- PINK
D RTG SKU#| STYLE# ITEM DESCRIPTION
Slat roll Right steg back Banel 36511271 | 12A-163 REVERSIBLE LOW LOFT STEP UNIT
T B o 5 35911278 | 12A-164 TWIN LOW LOFT SIDE PANELS
_: E 36211275 | 12A-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
1Pcs 9 1 Pcs 35811276 | 12A-702 TWIN LOW LOFT BUNK END
J’ 36811289 | 100-170 12 PC TWIN SLAT ROLL
i ¥ { R 36611273 | 12A-403 3 DRW CHEST
Low loft bunk end Left step back ganel
1Pcs |10 1 Pcs
Steg angle side Eanel 3 anv chest
[
| E—
| —
: 1 Pcs —TD_GL_S-N'EEFE'D——
- M Phillips screwdriver (not included)
Step side panel 0::):’
4 mm allen wrench (included)
5 mm allen wrench (included)
2/28/2024 AlIS12732-0 Page 9 of 66




HARDWARE LIST

T2-732 2TC OIOE RAILS W/ 2 TULL LENG TH RAILS 12-403 LOW LOFT STEP UNIT

G -
Or
Hardware pack !

location

Gold knobs  3x

B

5 mm allen wrench 1x

5/16-18x40mm bolt 14x
J :*.. I?ardu;are

Installed
4 mm allen wrench 1x

T00-170 12.°C TWIN SLAT ROLL

Hardware pack
location

1

6 x 11/4" Screw 10x

12-164  TWIN LOW LOF T SIDE PANELS

m

Hardware pack
location

1/4-20X30mm bolt 2x =

Hardware
location

Installed

Hardware

location

Installed

12-403 CHEST

Gold pulls  2x

L

Gold knobs  2x

Hardware pack
location

2/28/2024 AlS12732-0 Page 10 of 66




ASSEMBLY INSTRUCTIONS

TIPS : SEE ILLUSTRATION BELOW
1- Use the long end of the allen wrench to fasten bolts locsely and quickly.
2- Use the short end of the allen wrench for final tightening

TIPS #1

_ﬁ %\/X TIPS #2 /(X
| Y

: =%
= L)

FIRST DETERMINE THE CONFIGURATION THAT FITS YOUR ROOM

STAIRS ON THE RIGHT STAIRS ON THE LEFT

STEP1

STEP 2

Remove all pre-installed bolts from both sides (10 pcs)
save them for next steps.

align holes then fasten with previously removed bolts.

2/28/2024 AlS12732-0

Page 11 of 66




ASSEMBLY INSTRUCTIONS

/— B

Removed bolts from side panel (2), and from step back panel (2).

Repeat process for angle side panel. save them for next step.
STEP 6
() FOR STAIRS ON RIGHT
FOR STAIRS ON LEFT
~a £ i
Assemble step back panel
STEP 7 Lo RN e ) A
e N
4 \
II S 3 \\ & B

Assemble side rails. with 1 1/4 screws then fasten the rest of the pre-bored slats.

2/28/2024 AlS12732-0 Page 12 of 66




ASSEMBLY INSTRUCTIONS

STEP 9 fL— p|STEP10

mar A

U

Assemble guardrails and tighten all bolts.
MAKE SURE ALL BOLTS ARE TIGHTENED COMPLETELY Slide 3 drw chest under loft bed

Use only correct mattress dimensions and Slat roll:
Twin size mattress- 74" - 75" long and 37-1/2" - 38-1/2" wide
Twin size Slat roll- 75 1/4™ long and 39" wide
Full size mattress- 74" - 75" long and 52-1/2" - 53-1/2" wide
Full size Slat roll- 75 1/4" long and 54" wide

PLEASE CONTACT YOUR RETAIL STORE WITH SERVICE OR PARTS REPLACEMENT REQUEST

2/28/2024 AlS12732-0 Page 13 of 66




PARTS LIST

TWO PEOPLE ARE NEEDED TO ASSEMBLE
DO NOT TIGHTEN COMPLETELY UNTIL ALL PIECES

ARE CONNECTED TOGETHER

3541123P TWIN LOW LOFT W/STEP END & 2 CHEST

D-IRON ORE

RTGSKU#| STYLE# ITEM DESCRIPTION

36511233 | 12D-163 REVERSIBLE LOW LOFT STEP UNIT
35911230 12D-164 TWIN LOW LOFT SIDE PANELS

36211237 | 12D-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
35811238 | 12D-702 TWIN LOW LOFT BUNK END

36811289 100-170 12 PC TWIN SLAT ROLL

36611235| 12D-403 3 DRW CHEST

36611235| 12D-403 3 DRW CHEST

3541124P TWIN

LOW LOFT W/STEP END & 2 CHEST E- SLATE BLUE

RTG SKU#| STYLE# ITEM DESCRIPTION

36511245| 12E-163 REVERSIBLE LOW LOFT STEP UNIT
35911242 | 12E-164 TWIN LOW LOFT SIDE PANELS

36211249 12E-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
35811240 12E-702 TWIN LOW LOFT BUNK END

36811289 100-170 12 PC TWIN SLAT ROLL

36611247 | 12E-403 3 DRW CHEST

36611247 | 12E-403 3 DRW CHEST

3541125P TWIN

LOW LOFT W/STEP END & 2 CHEST G- LIGHT GRAY

RTGSKU#| STYLE# ITEM DESCRIPTION

36511257 | 12G-163 REVERSIBLE LOW LOFT STEP UNIT
35911254 | 12G-164 TWIN LOW LOFT SIDE PANELS

36211251| 12G-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
35811252 12G-702 TWIN LOW LOFT BUNK END

36811289 100-170 12 PC TWIN SLAT ROLL

36611259 | 12G-403 3 DRW CHEST

36611259 | 12G-403 3 DRW CHEST

3541126P TWIN LOW LOFT W/STEP END & 2 CHEST __ W- WHITE
PARITS LIS Q 1Y PARTS LIST ( ! TY RTG SKU#| STYLE# ITEM DESCRIPTION
I I
o 36511269 | 12W-163 REVERSIBLE LOW LOFT STEP UNIT
1 2 Pcs JL i -L 35911266 | 12W-164 TWIN LOW LOFT SIDE PANELS
7 b [ 1Pcs 36211263 | 12W-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
e 35811264 | 12W-702 TWIN LOW LOFT BUNK END
~L =.=J 36811289 | 100-170 12 PC TWIN SLAT ROLL
2 2 Pes Low loft steg unit 36611261 | 12W-403 3 DRW CHEST
—_ 36611261 12W-403 | 3 DRW CHEST
8 ’ 1 Pcs
3 1Pcs | 3541127P TWIN LOW LOFT W/STEP END & 2 CHEST __ A- PINK
D RTG SKU#| STYLE# ITEM DESCRIPTION
Slat roll Right steg back Banel 36511271 | 12A-163 REVERSIBLE LOW LOFT STEP UNIT
F B . N 35911278 | 12A-164 TWIN LOW LOFT SIDE PANELS
_: E 36211275 12A-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
4 1Pcs 9 1 Pcs 35811276 | 12A-702 TWIN LOW LOFT BUNK END
J’ 36811289 100-170 12 PC TWIN SLAT ROLL
i ¥ T 36611273 | 12A-403 3 DRW CHEST
Low loft bunk end Left step back ganel 36611273 | 12A-403 3 DRW CHEST
5 1Pcs |10 2 Pcs
Steg angle side Eanel 3 anv chest
| I
1
Jj —
6 . 1Pcs 6 0LS NEEDED
- -4 Phillips screwdriver (not included)
Step side panel 0::):’
4 mm allen wrench (included)
5 mm allen wrench (included)
2/28/2024 AlS12732-0 Page 14 of 66




HARDWARE LIST

T2-732 2TC OIOE RAILS W/ 2 TULL LENG TH RAILS 12-403 LOW LOFT STEP UNIT

G -
Or
Hardware pack !

location

Gold knobs  3x

B

5 mm allen wrench 1x

5/16-18x40mm bolt 14x
J 7 Hardware
i :J location

4 mm allen wrench 1x Installed

T00-170  127°C TWIN SLAT ROLL

C Hardware pack
location

1

6 x 11/4" Screw 10x

12-164  TWIN LOW LOF T SIDE PANELS

Hardware pack
location

1/4-20X30mm bolt 2x

Hardware
location

Installed

Hardware

location

Installed

12-403 CHEST

Gold pulls  2x

G

O

L

Gold knobs  2x

Hardware pack
location

2/28/2024 AlS12732-0 Page 15 of 66




ASSEMBLY INSTRUCTIONS

TIPS : SEE ILLUSTRATION BELOW
1- Use the long end of the allen wrench to fasten bolts locsely and quickly.
2- Use the short end of the allen wrench for final tightening

TIPS #1

_ﬁ %\/X TIPS #2 /(X
| Y

: =%
= L)

FIRST DETERMINE THE CONFIGURATION THAT FITS YOUR ROOM

STAIRS ON THE RIGHT STAIRS ON THE LEFT

STEP1

STEP 2

Remove all pre-installed bolts from both sides (10 pcs)
save them for next steps.

align holes then fasten with previously removed bolts.

2/28/2024 AlS12732-0

Page 16 of 66




ASSEMBLY INSTRUCTIONS

/— B

Removed bolts from side panel (2), and from step back panel (2).

Repeat process for angle side panel. save them for next step.
STEP 6
() FOR STAIRS ON RIGHT
FOR STAIRS ON LEFT
~a £ i
Assemble step back panel
STEP 7 ,f’—_--\‘\\ e ) A
e N
4 \
II S 3 \\ & B

Assemble side rails. with 1 1/4 screws then fasten the rest of the pre-bored slats.

2/28/2024 AlS12732-0 Page 17 of 66




ASSEMBLY INSTRUCTIONS

STEP 9 fL— p|STEP10

A

U

Assemble guardrails and tighten all bolts.
MAKE SURE ALL BOLTS ARE TIGHTENED COMPLETELY Slide 3 drw chest under loft bed

STEP 11

Slide 2nd 3 drw chest under loft bed

Use only correct mattress dimensions and Slat roll:
Twin size mattress- 74" - 75" long and 37-1/2" - 38-1/2" wide
Twin size Slat roll- 75 1/4™ long and 39" wide
Full size mattress- 74" - 75" long and 52-1/2" - 53-1/2" wide
Full size Slat roll- 75 1/4" long and 54" wide

PLEASE CONTACT YOUR RETAIL STORE WITH SERVICE OR PARTS REPLACEMENT REQUEST

2/28/2024 AlS12732-0 Page 18 of 66




PARTS LIST

3531123P TWIN LOW LOFT W/STEP END, CHEST & BOOKCASE = D-IRON ORE

RTGSKU#| STYLE# ITEM DESCRIPTION

36511233 | 12D-163 REVERSIBLE LOW LOFT STEP UNIT

35911230 12D-164 TWIN LOW LOFT SIDE PANELS

36211237 | 12D-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS

35811238 | 12D-702 TWIN LOW LOFT BUNK END

36811289 100-170 12 PC TWIN SLAT ROLL

36611235| 12D-403 3 DRW CHEST

36811239 12D-761 37" BOOKCASE

3531124P TWIN LOW LOFT W/STEP END, CHEST & BOOKCASE E- SLATE BLUE

RTG SKU#| STYLE# ITEM DESCRIPTION

36511245| 12E-163 REVERSIBLE LOW LOFT STEP UNIT

35911242 | 12E-164 TWIN LOW LOFT SIDE PANELS

36211249 12E-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS

35811240 12E-702 TWIN LOW LOFT BUNK END

36811289 100-170 12 PC TWIN SLAT ROLL

36611247 | 12E-403 3 DRW CHEST

36811241 12E-761 37" BOOKCASE

3531125P TWIN LOW LOFT W/STEP END, CHEST & BOOKCASE G- LIGHT GRAY

RTGSKU#| STYLE# ITEM DESCRIPTION

36511257 | 12G-163 REVERSIBLE LOW LOFT STEP UNIT

35911254 | 12G-164 TWIN LOW LOFT SIDE PANELS

i s mn iy 1 | L 36211251| 12G-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS

DO NOT TIGHTEN COMPLETELY UNTIL ALL PIECES 358112521 126702 TWIN LOW LOFT BUNK END

ARE CONNECTED TOGETHER 36811289] 100-170 | 12 PC TWIN SLAT ROLL

36611259 | 12G-403 3 DRW CHEST

36811253 | 12G-761 37" BOOKCASE

3531126P TWIN LOW LOFT W/STEP END, CHEST & BOOKCASE W- WHITE

PARITS LIS Q 1Y PARTS LIST ( ! TY RTG SKU#| STYLE# ITEM DESCRIPTION
I I
o 36511269 | 12W-163 REVERSIBLE LOW LOFT STEP UNIT
1 2 Pcs JL i -L 35911266 | 12W-164 TWIN LOW LOFT SIDE PANELS
7 T | 1Pcs 36211263 | 12W-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
———y 35811264 | 12W-702 TWIN LOW LOFT BUNK END
~L =.=J 36811289 | 100-170 12 PC TWIN SLAT ROLL
2 2 Pes Low loft steE unit 36611261 | 12W-403 3 DRW CHEST
—_ 36811265 12W-761 | 37" BOOKCASE
8 ’ 1 Pcs
3 1 Pes | 3531127P TWIN LOW LOFT W/STEP END, CHEST & BOOKCASE __ A- PINK
D RTG SKU#| STYLE# ITEM DESCRIPTION
Slat roll Right steg back Banel 36511271 | 12A-163 REVERSIBLE LOW LOFT STEP UNIT
F B . N 35911278 | 12A-164 TWIN LOW LOFT SIDE PANELS
_: T 36211275 12A-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
4 1 Pcs 9 1 Pcs 35811276 | 12A-702 TWIN LOW LOFT BUNK END
J’ 36811289 100-170 12 PC TWIN SLAT ROLL
i ¥ T 36611273 | 12A-403 3 DRW CHEST
Low loft bunk end Left steB back ganel 36811277 12A-761 37" BOOKCASE
5 1Pcs |10 1 Pcs
Steg angle side Eanel
| I
1
Jj —
6 : 1 Pcs 11 1 Pcs W
i ) : 'L_' L Phillips screwdriver inot mcluﬂeai
Step side panel 37" bookcase 0::):’

4 mm allen wrench (included)

—

5 mm allen wrench (included)

2/28/2024 AlS12732-0 Page 19 of 66




HARDWARE LIST

T2-732 2TC OIOE RAILS W/ 2 TULL LENG TH RAILS 12-403 LOW LOFT STEP UNIT

G -
Or
Hardware pack !

location

Gold knobs  3x

B

5 mm allen wrench 1x

5/16-18x40mm bolt 14x
J i ‘;’ Hardware
location

4 mm allen wrench 1x Installed

T00-170  127°C TWIN SLAT ROLL

c Hardware pack
location

1

6 x 11/4" Screw 10x

12-164  TWIN LOW LOF T SIDE PANELS

Hardware pack
location

1/4-20X30mm bolt 2x

Hardware
location

Installed

Hardware

location

Installed

12-403 CHEST

Gold pulls  2x

oy

Gold knobs  2x

Hardware pack
location

2/28/2024 AlS12732-0 Page 20 of 66




ASSEMBLY INSTRUCTIONS

TIPS : SEE ILLUSTRATION BELOW
1- Use the long end of the allen wrench to fasten bolts locsely and quickly.
2- Use the short end of the allen wrench for final tightening

TIPS #1

_ﬁ %\/X TIPS #2 /(X
| Y

: =%
= L)

FIRST DETERMINE THE CONFIGURATION THAT FITS YOUR ROOM

STAIRS ON THE RIGHT STAIRS ON THE LEFT

STEP1

STEP 2

Remove all pre-installed bolts from both sides (10 pcs)
save them for next steps.

align holes then fasten with previously removed bolts.

2/28/2024 AlS12732-0

Page 21 of 66




ASSEMBLY INSTRUCTIONS

f— | STEP5

Removed bolts from side panel (2), and from step back panel (2).

Repeat process for angle side panel. save them for next step.
STEP 6 ) D
() FOR STAIRS ON RIGHT E
FOR STAIRS ON LEFT
B
J
R A
Assemble step back panel
STEP 7 ,f’—_--\‘\\ e ) A
e N
4 \
’I :‘D — B \\ & B

Assemble side rails. with 1 1/4 screws then fasten the rest of the pre-bored slats.

2/28/2024 AlS12732-0 Page 22 of 66




ASSEMBLY INSTRUCTIONS

STEP 9 f— p|STEP10

b

U

Assemble guardrails and tighten all bolts.
MAKE SURE ALL BOLTS ARE TIGHTENED COMPLETELY Slide 3 drw chest under loft bed

STEP 11

Slide bookcase under loft bed

Use only correct mattress dimensions and Slat roll:
Twin size mattress- 74" - 75" long and 37-1/2" - 38-1/2" wide
Twin size Slat roll- 75 1/4™ long and 39" wide
Full size mattress- 74" - 75" long and 52-1/2" - 53-1/2" wide
Full size Slat roll- 75 1/4" long and 54" wide

PLEASE CONTACT YOUR RETAIL STORE WITH SERVICE OR PARTS REPLACEMENT REQUEST

2/28/2024 AlS12732-0 Page 23 of 66




PARTS LIST

3551123P TWIN LOW LOFT W/STEP END, CHEST & DESK  D-IRON ORE

RTGSKU#| STYLE# ITEM DESCRIPTION

36511233 | 12D-163 REVERSIBLE LOW LOFT STEP UNIT

35911230 12D-164 TWIN LOW LOFT SIDE PANELS

36211237 | 12D-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS

35811238 | 12D-702 TWIN LOW LOFT BUNK END

36811289 100-170 12 PC TWIN SLAT ROLL

36611235| 12D-403 3 DRW CHEST

36711237 | 12D-602 CASTER DESK

3551124P TWIN LOW LOFT W/STEP END, CHEST & DESK E- SLATE BLUE

RTG SKU#| STYLE# ITEM DESCRIPTION

36511245| 12E-163 REVERSIBLE LOW LOFT STEP UNIT

35911242 | 12E-164 TWIN LOW LOFT SIDE PANELS

36211249 12E-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS

35811240 12E-702 TWIN LOW LOFT BUNK END

36811289 100-170 12 PC TWIN SLAT ROLL

36611247 | 12E-403 3 DRW CHEST

36711249 12E-602 CASTER DESK

3551125P TWIN LOW LOFT W/STEP END, CHEST & DESK G- LIGHT GRAY

RTGSKU#| STYLE# ITEM DESCRIPTION

36511257 | 12G-163 REVERSIBLE LOW LOFT STEP UNIT

35911254 | 12G-164 TWIN LOW LOFT SIDE PANELS

i s mn iy 1 | L 36211251| 12G-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS

DO NOT TIGHTEN COMPLETELY UNTIL ALL PIECES 358112521 126702 TWIN LOW LOFT BUNK END

ARE CONNECTED TOGETHER 36811289] 100-170 | 12 PC TWIN SLAT ROLL

36611259 | 12G-403 3 DRW CHEST

36711251| 12G-602 CASTER DESK

3551126P TWIN LOW LOFT W/STEP END, CHEST & DESK W- WHITE

PARTS LIST qry PARTS LIST Qry RTG SKU#| STYLE# ITEM DESCRIPTION
— e 36511269 | 12W-163 | REVERSIBLE LOW LOFT STEP UNIT
2 Pes ]L _f_____]_ 35011266 | 12W-164 | TWIN LOW LOFT SIDE PANELS
7 — T 1 Pes 36211263 | 12W-732 | 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
N 35811264 | 12W-702 | TWIN LOW LOFT BUNK END
L =.=,| 36811289 100-170 | 12 PC TWIN SLAT ROLL
2 2 Pes Low loft step unit 36611261 12W-403 | 3 DRW CHEST
p—— 36711263 | 12W-602 | CASTER DESK
8 ] 1 Pcs
3 1 Pes i 3551127P TWIN LOW LOFT W/STEP END, CHEST & DESK_ A- PINK
i RTG SKU # STYLE # ITEM DESCRIPTION
Slat roll Right step back panel 36511271 12A-163 | REVERSIBLE LOW LOFT STEP UNIT
: - - 35911278 | 12A-164 | TWIN LOW LOFT SIDE PANELS
1 36211275| 12A-732 | 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
4 1P 1P 35811276 | 12A-702 | TWIN LOW LOFT BUNK END
cs cs 36811289 100-170 | 12 PC TWIN SLAT ROLL
| | 36611273 | 12A-403 | 3 DRW CHEST
Low loft bunk end 36711275| 12A-602 | CASTER DESK
5 1 Pcs 1 Pcs
Steg angle side Banel
[ I
| —
—
6 I‘ . 1 Pcs 1 Pcs W
Step side panel Caster desk 0::):’

4 mm allen wrench (included)

—

5 mm allen wrench (included)

2/28/2024 AlS12732-0 Page 24 of 66




HARDWARE

LIST

T2-732 2TC OIOE RAILS W/ 2 TULL LENG TH RAILS

Hardware pack
location

B

5 mm allen wrench 1x

T e—

4 mm allen wrench 1x

12-403 LOW LOFT STEP UNIT

O

Gold knobs  3x

5/16-18x40mm bolt 14x

T00-170  127°C TWIN SLAT ROLL

c Hardware pack
location

1

6 x 11/4" Screw 10x

12-164  TWIN LOW LOF T SIDE PANELS

m

Hardware
location

Installed

Hardware pack

g

Caster socket  6x

Hardware pack
location

location
- E
1/4-20X30mm bolt  2x e
Hardware
location
Installed
Hardware
location
A Installed
U
e
U
12-403 CHES
F -
Gold pulls _2x
G
vy
Gold knobs _2x
Hardware pack
location
12-602 CASTER DESK
L A
’ ‘
i._/:
Caster 6x
K

2/28/2024 AIS12732-0

Page 25 of 66




ASSEMBLY INSTRUCTIONS

TIPS : SEE ILLUSTRATION BELOW
1- Use the long end of the allen wrench to fasten bolts locsely and quickly.
2- Use the short end of the allen wrench for final tightening

TIPS #1

_ﬁ %\/X TIPS #2 /(X
| Y

: =%
= L)

FIRST DETERMINE THE CONFIGURATION THAT FITS YOUR ROOM

STAIRS ON THE RIGHT STAIRS ON THE LEFT

STEP1

STEP 2

Remove all pre-installed bolts from both sides (10 pcs)
save them for next steps.

align holes then fasten with previously removed bolts.

2/28/2024 AlS12732-0

Page 26 of 66




ASSEMBLY INSTRUCTIONS

/— B

Removed bolts from side panel (2), and from step back panel (2).

Repeat process for angle side panel. save them for next step.
STEP 6 D
() FOR STAIRS ON RIGHT E
FOR STAIRS ON LEFT
B
J
R A
Assemble step back panel
STEP 7 ,f’—_--\‘\\ e ) A
e N
4 \
’I :‘D — B \\ & B

Assemble side rails. with 1 1/4 screws then fasten the rest of the pre-bored slats.
2/28/2024 AlS12732-0 Page 27 of 66




ASSEMBLY INSTRUCTIONS

STEP 9

Assemble guardrails and tighten all bolts.
MAKE SURE ALL BOLTS ARE TIGHTENED COMPLETELY

A_ g]|STEP10

mer A

b

U

STEP 11

B K |STEP12

%2;‘% L

-~ -

Install casters in all desk posts

Slide caster desk under loft bed

Use only correct mattress dimensions and Slat roll:
Twin size mattress- 74" - 75" long and 37-1/2" - 38-1/2" wide
Twin size Slat roll- 75 1/4™ long and 339" wide
Full size mattress- 74" - 75" long and 52-1/2" - 53-1/2" wide
Full size Slat roll- 75 1/4" long and 54" wide

PLEASE CONTACT YOUR RETAIL STORE WITH SERVICE OR PARTS REPLACEMENT REQUEST

2/28/2024

AlS12732-0 Page 28 of 66




PARTS LIST

[3561123P_TWIN LOW LOFT W/STEP END,CHEST,BOOKCASESDESK _D-IRON ORE__|
RTGSKU#| STYLE# ITEM DESCRIPTION

36511233 12D-163 [ REVERSIBLE LOW LOFT STEP UNIT

35911230 12D-164 [ TWIN LOW LOFT SIDE PANELS

36211237 12D-732 [ 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS

35811238 12D-702 [ TWIN LOW LOFT BUNK END

36811289 100-170 [ 12 PC TWIN SLAT ROLL

36611235| 12D-403 [ 3 DRW CHEST

36811239 12D-761 [ 37" BOOKCASE

36711237 | 12D-602 [ CASTER DESK

[F567124P TWIN LOW LOFT WISTEP END,CHEST,BOOKCASESDESK E-SLATE BLUE |
RTG SKU#| STYLE# ITEM DESCRIPTION

36511245| 12E-163 REVERSIBLE LOW LOFT STEP UNIT
35911242 | 12E-164 TWIN LOW LOFT SIDE PANELS

36211249 12E-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
35811240 12E-702 TWIN LOW LOFT BUNK END

36811289 100-170 12 PC TWIN SLAT ROLL

36611247 | 12E-403 3 DRW CHEST

36811241 12E-761 37" BOOKCASE

36711249 12E-602 CASTER DESK

|5561125P TWIN LOW LOFT W/STEP END,CHEST,BOOKCASE&DESK G-LIGHT GRAY
RTGSKU#| STYLE# ITEM DESCRIPTION
36511257 | 12G-163 REVERSIBLE LOW LOFT STEP UNIT

35911254 | 12G-164 TWIN LOW LOFT SIDE PANELS
i s mn iy 1 | L 36211251| 12G-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS

DO NOT TIGHTEN COMPLETELY UNTIL ALL PIECES 358112521 126702 TWIN LOW LOFT BUNK END
ARE CONNECTED TOGETHER 36811289| 100170 | 12 PC TWIN SLAT ROLL

36611250 | 12G-403 | 3 DRW CHEST

36811253| 12G-761 | 37" BOOKCASE

36711251| 12G-602 | CASTER DESK

3561126P TWIN LOW LOFT W/STEP END,CHEST,BOOKCASE&DESK W-WHITE

PARITIS LIS g 1Y PARIS LIS u RTG SKU # STYLE # ITEM DESCRIPTION
I I
] e 36511269 | 12W-163 | REVERSIBLE LOW LOFT STEP UNIT
1 Iﬁ—***‘"’f___‘_-_-----‘-‘ 2 Pes ]L ® ] 35911266 | 12W-164 | TWIN LOW LOFT SIDE PANELS
e 7 T 1 Pes 36211263 | 12W-732 [ 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
Side rail e —— 35811264 | 12W-702 [ TWIN LOW LOFT BUNK END
— = | =_| 36811289 | 100-170 12 PC TWIN SLAT ROLL
2 rr—— —— 9| 2 pes Low loft step unit 36611261 | 12W-403 [ 3 DRW CHEST
- _—— 36811265 12W-761 | 37" BOOKCASE
Guardrail ] T 36711263 | 12W-602 | CASTER DESK
I
3 1Pes 8 ] 1Pcs [B567127P TWIN LOW LOFT WISTEP END,CHEST,BOOKCASESDESK A-PINK
E—— RTG SKU # STYLE # ITEM DESCRIPTION
Slat roll Right step back panel 36511271 12A-163 REVERSIBLE LOW LOFT STEP UNIT
I
E - — 35911278 | 12A-164 TWIN LOW LOFT SIDE PANELS
¥ ] 36211275 12A-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
4 1pes | 9 1 Pes 35811276 | 12A-702 TWIN LOW LOFT BUNK END
J 36811289 100-170 12 PC TWIN SLAT ROLL
i A e 36611273 | 12A-403 3 DRW CHEST
Low loft bunk end Left steB back ganel 36811277 12A-761 37" BOOKCASE
: ; iy 36711275 12A-602 CASTER DESK
5 1Pcs 10 1 Pcs
Steg angle side Banel
| I
1
Jj —
6 2 1 Pcs 11 1 Pcs W
e | o= Phillips screwdriver (not included)
Step side panel 0::):’
4 mm allen wrench (included)
12 1Pc &1
G o 5 mm allen wrench (included)
Caster desk ‘z
— R —

2/28/2024 AlIS12732-0 Page 29 of 66




HARDWARE

LIST

T2-732 2TC OIOE RAILS W/ 2 TULL LENG TH RAILS

12-403 LOW LOFT STEP UNIT

Hardware pack
location

O

Gold knobs  3x

B

5 mm allen wrench 1x

J

4 mm allen wrench 1x

5/16-18x40mm bolt 14x

T00-170  127°C TWIN SLAT ROLL

Hardware pack
location

1

6x11/4" §crew 10x

12-164  TWIN LOW LOF T SIDE PANELS

Hardware pack

Hardware
location

Installed

g

Caster socket  6x

Hardware pack
location

location
e
1/4-20X30mm bolt 2x > o
Hardware
location
Installed
Hardware
location
Uh.‘b"‘“* Installed
e
U
12-403 CHES
Gold pulls__2x
e
Gold knobs  2x Hardware pack
location
12-602
L i}
-
.-/:
Caster 6x
K

2/28/2024 AIS12732-0

Page 30 of 66




ASSEMBLY INSTRUCTIONS

TIPS : SEE ILLUSTRATION BELOW
1- Use the long end of the allen wrench to fasten bolts locsely and quickly.
2- Use the short end of the allen wrench for final tightening

TIPS #1 X
._ /@/ TIPS #2
{l
r‘b\(/

FIRST DETERMINE THE CONFIGURATION THAT FITS YOUR ROOM

STAIRS ON THE RIGHT STAIRS ON THE LEFT

STEP1

STEP 2

Remove all pre-installed bolts from both sides (10 pcs)
save them for next steps.

align holes then fasten with previously removed bolts.

2/28/2024 AlS12732-0

Page 31 of 66




ASSEMBLY INSTRUCTIONS

f— p|STEP5

Removed bolts from side panel (2), and from step back panel (2).

Repeat process for angle side panel. save them for next step.
STEP 6 D
() FOR STAIRS ON RIGHT E
FOR STAIRS ON LEFT
B
J
~a £ i
Assemble step back panel
STEP 7 Lo RN e ) A
e N
4 \
’I :‘D — B \\ & B

Assemble side rails. with 1 1/4 screws then fasten the rest of the pre-bored slats.

2/28/2024 AlIS12732-0 Page 32 of 66




ASSEMBLY INSTRUCTIONS

STEP 9 fA— g|STEP10

U
Assemble guardrails and tighten all bolts.
MAKE SURE ALL BOLTS ARE TIGHTENED COMPLETELY Slide 3 drw chest under loft bed
STEP 11 STEP 12

Slide bookcase under loft bed Install casters in all desk posts

STEP 13

Slide caster desk under loft bed

2/28/2024 AIS12732-0

Page 33 of 66




Use only correct mattress dimensions and Slat roll:

Twin size mattress- 74" - 75" long and 37-1/2" - 38-1/2" wide
Twin size Slat roll- 75 1/4™ long and 39" wide

Full size mattress- 74" - 75" long and 52-1/2" - 53-1/2" wide
Full size Slat roll- 75 1/4" long and 54" wide

PLEASE CONTACT YOUR RETAIL STORE WITH SERVICE OR PARTS REPLACEMENT REQUEST

2/28/2024

AlS12732-0

Page 34 of 40




PARTS LIST

3611123P FULL LOW LOFT W/STEP END

D-IRON ORE

RTG SKU#| STYLE# ITEM DESCRIPTION
36511233 | 12D-163 REVERSIBLE LOW LOFT STEP UNIT
36111235| 12D-165 FULL LOW LOFT SIDE PANELS
36211237 | 12D-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
36011233 | 12D-703 FULL LOW LOFT BUNK END
36911281 100-171 12 PC FULL SLAT ROLL
3611124P FULL LOW LOFT W/STEP END _ E- SLATE BLUE
RTG SKU#| STYLE# ITEM DESCRIPTION
36511245 12E-163 REVERSIBLE LOW LOFT STEP UNIT
36111247 | 12E-165 FULL LOW LOFT SIDE PANELS
36211249 | 12E-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
36011245 12E-703 FULL LOW LOFT BUNK END
36911281 100-171 12 PC FULL SLAT ROLL
= 3611125P FULL LOW LOFT W/STEP END G- LIGHT GRAY
U RTG SKU#| STYLE# ITEM DESCRIPTION
36511257 | 12G-163 REVERSIBLE LOW LOFT STEP UNIT
36111259 | 12G-165 FULL LOW LOFT SIDE PANELS
36211251 | 12G-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
TWO PEOPLE ARE NEEDED TO ASSEMBLE 36011257 | 12G-703 FULL LOW LOFT BUNK END
DO NOT TIGHTEN COMPLETELY UNTIL ALL PIECES 36911261] 100-171 | 12PCFULL SLATROLL
ARE CONNECTED TOGETHER
3611126P FULL LOW LOFT W/STEP END _ W- WHITE
PARITS LIS Q 1Y PARTS LIST ( ! TY RTG SKU#| STYLE# ITEM DESCRIPTION
I I
—- 36511269 | 12W-163 REVERSIBLE LOW LOFT STEP UNIT
2 Pes JL i -I 36111261 | 12W-165 FULL LOW LOFT SIDE PANELS
5 T 1 Pcs 36211263 | 12W-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
o — 36011269 | 12W-703 FULL LOW LOFT BUNK END
. I_ ==J 36911281 100-171 12 PC FULL SLAT ROLL
2 Pes Low loft step unit
Guardrail T
I
i 1 Pcs
1 Pes | 3611127P FULL LOW LOFT W/STEP END __ A- PINK
B RTG SKU#| STYLE# ITEM DESCRIPTION
Slat roll Right steg back Banel 36511271 | 12A-163 REVERSIBLE LOW LOFT STEP UNIT
B
o == 36111273 | 12A-165 FULL LOW LOFT SIDE PANELS
T | 36211275 12A-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
1Pcs 1 Pcs 36011271 12A-703 FULL LOW LOFT BUNK END
J’. 36911281 100-171 12 PC FULL SLAT ROLL
1] ) { R
Low loft bunk end Left step back ganel
1 Pcs
Steg angle side Banel
1 Pcs = 50LS NEEDED
— [ Phillips screwdriver (not included) |
Step side panel 0::):’
4 mm allen wrench (included)
5 mm allen wrench (included)
2/28/2024 AlIS12732-0 Page 35 of 66




HARDWARE LIST

T2-732 2TC OIOE RAILS W/ 2 TULL LENG TH RAILS

B

5 mm allen wrench 1x

J

4 mm allen wrench 1x

12-403 L

OW LOFT STEP UNIT

O

Gold knobs  3x

Hardware pack
location

5/16-18x40mm bolt 14x

TOO- 170 12

1

6x11/4" §crew 10x

PC FULL SLAT ROLL

Hardware pack
location

12-164  TWIN LOW LOF T SIDE PANELS

1/4-20X30mm bolt 2x

Hardware
location

Installed

Hardware pack
location

Hardware
location

> Hardware
location

Installed

2/28/2024

AlS12732-0

Page 36 of 66




ASSEMBLY INSTRUCTIONS

1- Use the long end of the allen wrench to fasten bolts locsely and quickly.

TIPS : SEE ILLUSTRATION BELOW

2- Use the short end of the allen wrench for final tightening

TIPS #1

F% TIPS #2

7

FIRST DETERMINE THE CONFIGURATION THAT FITS YOUR ROOM

STAIRS ON THE RIGHT STAIRS ON THE LEFT

STEP1

§§§§§

N

Assembly configuration for stairs on the right side.

U

STEP 2

Remove all pre-installed bolts from both sides (10 pcs)
save them for next steps.

align holes then fasten with previously removed bolts.

2/28/2024

AlS12732-0

Page 37 of 66




ASSEMBLY INSTRUCTIONS

STEP 4

(f— B

U

Removed bolts from side panel (2), and from step back panel (2).

save them for next step.

FOR STAIRS ON LEFT

® FOR STAIRS ON RIGHT

S—_-

Assemble step back panel

0 E
& B
= J

-—————

ma A

&% B

Assemble side rails.

STEP 8 ‘ g R
1

== C

with 1 1/4 screws then fasten the rest of the pre-bored slats.

2/28/2024

AlS12732-0

Page 38 of 66




ASSEMBLY INSTRUCTIONS

STEP 9 f— p|STEP10

Assemble guardrails and tighten all bolts.
MAKE SURE ALL BOLTS ARE TIGHTENED COMPLETELY

Use only correct mattress dimensions and Slat roll:
Twin size mattress- 74" - 75" long and 37-1/2" - 38-1/2" wide
Twin size Slat roll- 75 1/4™ long and 339" wide
Full size mattress- 74" - 75" long and 52-1/2" - 53-1/2" wide
Full size Slat roll- 75 1/4" long and 54" wide

PLEASE CONTACT YOUR RETAIL STORE WITH SERVICE OR PARTS REPLACEMENT REQUEST

2/28/2024 AIS12732-0

Page 39 of 66




PARTS LIST

TWO PEOPLE ARE NEEDED TO ASSEMBLE
DO NOT TIGHTEN COMPLETELY UNTIL ALL PIECES
ARE CONNECTED TOGETHER

3621123P FULL LOW LOFT W/STEP END & CHEST

D-IRON ORE

RTGSKU#| STYLE# ITEM DESCRIPTION
36511233 | 12D-163 REVERSIBLE LOW LOFT STEP UNIT
36111235| 12D-165 FULL LOW LOFT SIDE PANELS
36211237 | 12D-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
36011233 | 12D-703 FULL LOW LOFT BUNK END
36911281 100-171 12 PC FULL SLAT ROLL
36611235| 12D-403 3 DRW CHEST

3621124P FULL LOW LOFT W/STEP END & CHEST E- SLATE BLUE
RTG SKU#| STYLE# ITEM DESCRIPTION
36511245| 12E-163 REVERSIBLE LOW LOFT STEP UNIT
36111247 | 12E-165 FULL LOW LOFT SIDE PANELS
36211249 12E-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
36011245 12E-703 FULL LOW LOFT BUNK END
36911281 100-171 12 PC FULL SLAT ROLL
36611247 | 12E-403 3 DRW CHEST

3621125P FULL LOW LOFT W/STEP END & CHEST G- LIGHT GRAY
RTGSKU#| STYLE# ITEM DESCRIPTION
36511257 | 12G-163 REVERSIBLE LOW LOFT STEP UNIT
36111259 12G-165 FULL LOW LOFT SIDE PANELS
36211251| 12G-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
36011257 | 12G-703 FULL LOW LOFT BUNK END
36911281 100-171 12 PC FULL SLAT ROLL
36611259 | 12G-403 3 DRW CHEST

3621126P FULL LOW LOFT W/STEP END & CHEST __ W- WHITE
PARTS LIST g TY PARTS LIST (I g TY RTG SKU#| STYLE# ITEM DESCRIPTION
I I
et s 36511269 12W-163 REVERSIBLE LOW LOFT STEP UNIT
2 Pes ]L i L 36111261 12W-165 FULL LOW LOFT SIDE PANELS
7 1 Pcs 36211263 | 12W-732 | 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
— 36011269 12w-703 FULL LOW LOFT BUNK END
~L =.=J 36911281 100-171 12 PC FULL SLAT ROLL
2 Pes ow loft step unit 36611261 12W-403 3 DRW CHEST
Guardrail T
I
8 s 1 Pcs
1Pes 3621127P FULL LOW LOFT W/STEP END & CHEST __ A-PINK
——F RTG SKU # STYLE # ITEM DESCRIPTION
Slat roll ight step back Banel 36511271 12A-163 REVERSIBLE LOW LOFT STEP UNIT
B
- n 36111273 | 12A-165 FULL LOW LOFT SIDE PANELS
; ] 36211275 12A-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
1pes | 9 1 Pcs 36011271 12A-703 FULL LOW LOFT BUNK END
7} 36911281 100-171 12 PC FULL SLAT ROLL
] g | B 36611273 | 12A-403 3 DRW CHEST
Low loft bunk end Left step back ganel
1Pcs |10 1 Pcs
; ; 3
Steg angle side Eanel 3 anv chest
1 PCS W
M pFII"IpS screwarlver inot mcluaeai
Step side panel 0::):’
4 mm allen wrench (included)
5 mm allen wrench (included)
2/28/2024 AlS12732-0 Page 40 of 66




HARDWARE LIST

B
5 mm allen wrench 1x
R

4 mm allen wrench 1x

T2-732 2TC OIOE RAILS W/ 2 TULL LENG TH RAILS

T

Gold knobs  3x

Hardware pack
location

5/16-18x40mm bolt 14x

T00-170 12.°C FOLL SLAT ROLL

Hardware pack

12-403 LOW LOFT STEP UNIT

Hardware
location
Installed

Gold pulls  2x

L

Gold knobs  2x

Hardware pack

location

C W location
6x11/4" Screw 10x
12-164 TWIN LOW LOFT SIDE PANELS
E Hardware pack
location
1/4-20X30mm bolt  2x
Hardware -
location /
D
Hardware
location
o Installed
U T
B
U
12-403 CHEST
F

2/28/2024

AlS12732-0

Page 41 of 66




ASSEMBLY INSTRUCTIONS

TIPS : SEE ILLUSTRATION BELOW
1- Use the long end of the allen wrench to fasten bolts locsely and quickly.
2- Use the short end of the allen wrench for final tightening

TIPS #1

ﬁ %\/X TIPS #2 /(X
F

: =%
S 72
£

FIRST DETERMINE THE CONFIGURATION THAT FITS YOUR ROOM

STAIRS ON THE RIGHT STAIRS ON THE LEFT

STEP1

J'\

U

Assembly configuration for stairs on the right side.

Assembly configuration for stairs on the left side.

STEP 2 l— B

Remove all pre-installed bolts from both sides (10 pcs)
save them for next steps.

STEP 3

align holes then fasten with previously removed bolts.

2/28/2024 AlS12732-0

Page 42 of 66




ASSEMBLY INSTRUCTIONS

STEP 4

/— B

U

Removed bolts from side panel (2), and from step back panel (2).
save them for next step.

FOR STAIRS ON LEFT

@ FOR STAIRS ON RIGHT

~—_ i

Assemble step back panel

¢ E
{— B
Y/ B

~——-

- ——-

A

& B !

Assemble side rails.

with 1 1/4 screws then fasten the rest of the pre-bored slats.

2/28/2024

AlS12732-0

Page 43 of 66




ASSEMBLY INSTRUCTIONS

STEP 9 i— B

Assemble guardrails and tighten all bolts.
MAKE SURE ALL BOLTS ARE TIGHTENED COMPLETELY

STEP 10

<IN

Slide 3 drw chest under loft bed

Use only correct mattress dimensions and Slat roll:
Twin size mattress- 74" - 75" long and 37-1/2" - 38-1/2" wide
Twin size Slat roll- 75 1/4™ long and 39" wide
Full size mattress- 74" - 75" long and 52-1/2" - 53-1/2" wide
Full size Slat roll- 75 1/4" long and 54" wide

PLEASE CONTACT YOUR RETAIL STORE WITH SERVICE OR PARTS REPLACEMENT REQUEST

2/28/2024 AlS12732-0

Page 44 of 66




PARTS LIST

3641123P FULL LOW LOFT W/STEP END & 2 CHEST  D-IRON ORE

RTGSKU#| STYLE# ITEM DESCRIPTION

36511233 | 12D-163 REVERSIBLE LOW LOFT STEP UNIT

36111235| 12D-165 FULL LOW LOFT SIDE PANELS

36211237 | 12D-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS

36011233 | 12D-703 FULL LOW LOFT BUNK END

36911281 100-171 12 PC FULL SLAT ROLL

36611235| 12D-403 3 DRW CHEST

36611235| 12D-403 3 DRW CHEST

3641124P FULL LOW LOFT W/STEP END & 2 CHEST E- SLATE BLUE

RTG SKU#| STYLE# ITEM DESCRIPTION

36511245| 12E-163 REVERSIBLE LOW LOFT STEP UNIT

36111247 | 12E-165 FULL LOW LOFT SIDE PANELS

36211249 12E-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS

36011245 12E-703 FULL LOW LOFT BUNK END

36911281 100-171 12 PC FULL SLAT ROLL

36611247 | 12E-403 3 DRW CHEST

36611247 | 12E-403 3 DRW CHEST

3641125P FULL LOW LOFT W/STEP END & 2 CHEST G- LIGHT GRAY

RTGSKU#| STYLE# ITEM DESCRIPTION

U

36511257 | 12G-163 REVERSIBLE LOW LOFT STEP UNIT

36111259 12G-165 FULL LOW LOFT SIDE PANELS

36211251| 12G-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS

TWO PEOPLE ARE NEEDED TO ASSEMBLE 36011257 | 12G-703 FULL LOW LOFT BUNK END

DO NOT TIGHTEN COMPLETELY UNTIL ALL PIECES 36911281 100-171 ] 12PCFULL SLAT ROLL

ARE CONNECTED TOGETHER 36611259 | 12G-403 3 DRW CHEST

36611259 | 12G-403 3 DRW CHEST

3641126P FULL LOW LOFT W/STEP END & 2 CHEST W- WHITE

PARTS LIS Qry PARTS LIS Qry RTG SKU#| STYLE# ITEM DESCRIPTION
— e 36511269 | 12W-163 | REVERSIBLE LOW LOFT STEP UNIT
1 2 Pes jL —f—__--.l 36111261 12W-165 | FULL LOW LOFT SIDE PANELS
7 — 1 Pes 36211263 | 12W-732 | 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
— 36011269 12W-703 | FULL LOW LOFT BUNK END
sy L =J 36911281 100171 | 12 PC FULL SLAT ROLL
2 2 Pes Low loft step unit 36611261 12W-403 | 3 DRW CHEST
p— 36611261 12W-403 | 3 DRW CHEST
Guardrail ’ T
I
8 ] 1 Pcs
3 1 Pes n 3641127P FULL LOW LOFT W/STEP END & 2 CHEST _ A- PINK
——F RTG SKU # STYLE # ITEM DESCRIPTION
Slat roll Right step back panel 36511271| 12A-163 | REVERSIBLE LOW LOFT STEP UNIT
—_— - - 36111273| 12A-165 | FULL LOW LOFT SIDE PANELS
] 1 1 36211275| 12A-732 | 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
4 1P P 36011271 12A-703 | FULL LOW LOFT BUNK END
cs |9 ] cs 36911281| 100171 | 12 PC FULL SLAT ROLL
U 0 e 36611273| 12A-403 | 3 DRW CHEST
Low loft bunk end Left steB back ganel 36611273 | 12A-403 3 DRW CHEST
5 1Pcs |10 2 Pcs
Steg angle side Eanel 3 anv chest
6 1 Pcs
e [ Phillips screwdriver (not included) |
Step side panel 0::):’

4 mm allen wrench (included)

—

5 mm allen wrench (included)

2/28/2024 AlS12732-0 Page 45 of 66




HARDWARE LIST

T2-732 2TC OIOE RAILS W/ 2 TULL LENG TH RAILS 12-403 LOW LOFT STEP UNIT

G -
Or
Hardware pack !

location

Gold knobs  3x

D
B
5 mm allen wrench 1x
J 5/16-18x40mm bolt 14x
&, Hardware
location
4 mm allen wrench 1x Installed

T00-170 12.°C FOLL SLAT ROLL

c Hardware pack
location

1

6 x 11/4" Screw 10x

12-164  TWIN LOW LOF T SIDE PANELS

m

Hardware pack
location

1/4-20X30mm bolt 2x R

Hardware
location

location

Installed

12-403 CHEST

Gold pulls  2x

G

oy

Gold knobs  2x

Hardware pack
location

2/28/2024 AlS12732-0 Page 46 of 66




ASSEMBLY INSTRUCTIONS

TIPS : SEE ILLUSTRATION BELOW
1- Use the long end of the allen wrench to fasten bolts locsely and quickly.
2- Use the short end of the allen wrench for final tightening

TIPS #1

ﬁ %\/X TIPS #2 /(X
F

: =%
S 72
£

FIRST DETERMINE THE CONFIGURATION THAT FITS YOUR ROOM

STAIRS ON THE RIGHT

STAIRS ON THE LEFT

STEP1

Assembly configuration for stairs on the right side.

STEP 2

Remove all pre-installed bolts from both sides (10 pcs)
save them for next steps.

align holes then fasten with previously removed bolts.

2/28/2024 AlS12732-0

Page 47 of 66




ASSEMBLY INSTRUCTIONS

STEP 4

/— B

U

Removed bolts from side panel (2), and from step back panel (2).
save them for next step.

FOR STAIRS ON LEFT

@ FOR STAIRS ON RIGHT

~
~

~e__i

Assemble step back panel

~——-

- ——-

STEP 8

mar A

& B !

Assemble side rails.

gp= C

with 1 1/4 screws then fasten the rest of the pre-bored slats.

2/28/2024

AlS12732-0

Page 48 of 66




ASSEMBLY INSTRUCTIONS

STEP 9 STEP 10

Assemble guardrails and tighten all bolts.
MAKE SURE ALL BOLTS ARE TIGHTENED COMPLETELY Slide 3 drw chest under loft bed

STEP 11

Slide 2nd 3 drw chest under loft bed

Use only correct mattress dimensions and Slat roll:
Twin size mattress- 74" - 75" long and 37-1/2" - 38-1/2" wide
Twin size Slat roll- 75 1/4™ long and 39" wide
Full size mattress- 74" - 75" long and 52-1/2" - 53-1/2" wide
Full size Slat roll- 75 1/4" long and 54" wide

PLEASE CONTACT YOUR RETAIL STORE WITH SERVICE OR PARTS REPLACEMENT REQUEST

2/28/2024 AIS12732-0 Page 49 of 66




PARTS LIST

TWO PEOPLE ARE NEEDED TO ASSEMBLE
DO NOT TIGHTEN COMPLETELY UNTIL ALL PIECES
ARE CONNECTED TOGETHER

3631123P FULL LOW LOFT W/STEP END, CHEST & BOOKCASE D-IRON ORE

RTGSKU#| STYLE# ITEM DESCRIPTION
36511233 | 12D-163 REVERSIBLE LOW LOFT STEP UNIT
36111235| 12D-165 FULL LOW LOFT SIDE PANELS
36211237 | 12D-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
36011233 | 12D-703 FULL LOW LOFT BUNK END
36911281 100-171 12 PC FULL SLAT ROLL
36611235| 12D-403 3 DRW CHEST
36811239 12D-761 37" BOOKCASE

3631124P FULL LOW LOFT W/STEP END, CHEST & BOOKCASE E- SLATE BLUE
RTG SKU#| STYLE# ITEM DESCRIPTION
36511245| 12E-163 REVERSIBLE LOW LOFT STEP UNIT
36111247 | 12E-165 FULL LOW LOFT SIDE PANELS
36211249 12E-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
36011245 12E-703 FULL LOW LOFT BUNK END
36911281 100-171 12 PC FULL SLAT ROLL
36611247 | 12E-403 3 DRW CHEST
36811241 12E-761 37" BOOKCASE

3631125P FULL LOW LOFT W/STEP END, CHEST & BOOKCASE G- LIGHT GRAY
RTGSKU#| STYLE# ITEM DESCRIPTION
36511257 | 12G-163 REVERSIBLE LOW LOFT STEP UNIT
36111259 12G-165 FULL LOW LOFT SIDE PANELS
36211251| 12G-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
36011257 | 12G-703 FULL LOW LOFT BUNK END
36911281 100-171 12 PC FULL SLAT ROLL
36611259 | 12G-403 3 DRW CHEST
36811253 | 12G-761 37" BOOKCASE

3631126P FULL LOW LOFT W/STEP END, CHEST & BOOKCASE _ W- WHITE
PARIS LIS | Q 1Y PARTS LIST ( ! TY RTG SKU#| STYLE# ITEM DESCRIPTION
I —
—- 36511269 | 12W-163 REVERSIBLE LOW LOFT STEP UNIT
2 Pes JL i -L 36111261 | 12W-165 FULL LOW LOFT SIDE PANELS
7 s | 1 Pcs 36211263 | 12W-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
———y 36011269 | 12W-703 FULL LOW LOFT BUNK END
~JL =.=J 36911281 | 100-171 12 PC FULL SLAT ROLL
2 Pes Low loft SteE unit 36611261 | 12W-403 3 DRW CHEST
_—— 36811265 12W-761 [ 37" BOOKCASE
Guardrail ’ T
I
1 Pes 8 y 1Pcs 3631127P FULL LOW LOFT W/STEP END, CHEST & BOOKCASE  A-PINK
D RTG SKU#| STYLE# ITEM DESCRIPTION
Slat roll Right steg back Banel 36511271 | 12A-163 REVERSIBLE LOW LOFT STEP UNIT
.
o 5 36111273 | 12A-165 FULL LOW LOFT SIDE PANELS
T | 36211275 | 12A-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
1Pcs 9 1 Pcs 36011271 | 12A-703 FULL LOW LOFT BUNK END
J’ 36911281 | 100-171 12 PC FULL SLAT ROLL
1] ) { R 36611273 | 12A-403 3 DRW CHEST
Low loft bunk end Left step back ganel 36811277 | 12A-761 37" BOOKCASE
1Pcs |10 1 Pcs
Steg angle side Eanel
1 Pcs 11 1 Pcs W
0 g Phillips screwdriver (not included)
Step side panel 37" bookcase 0::):’
4 mm allen wrench (included)
5 mm allen wrench (included)
2/28/2024 AlIS12732-0 Page 50 of 66




HARDWARE LIST

T2-732 2TC OIOE RAILS W/ 2 TULL LENG TH RAILS 12-403 LOW LOFT STEP UNIT

G -
Or
Hardware pack !

location

Gold knobs  3x

B

5 mm allen wrench 1x

5/16-18x40mm bolt 14x

Y/ -
4 mm allen wrench 1x Hardware
location
TO0-170 12 PG TULL SLAT ROLL Installed
Hardware pack
C P

location

1

6 x 11/4" Screw 10x

12-164  TWIN LOW LOF T SIDE PANELS

Hardware pack
location

1/4-20X30mm bolt 2x

Hardware
location

Hardware

location

Installed

12-403 CHEST

Gold pulls  2x

G

oy

Gold knobs  2x

Hardware pack
location

2/28/2024 AlS12732-0 Page 51 of 66




ASSEMBLY INSTRUCTIONS

TIPS : SEE ILLUSTRATION BELOW
1- Use the long end of the allen wrench to fasten bolts locsely and quickly.
2- Use the short end of the allen wrench for final tightening

TIPS #1

ﬁ %\/X TIPS #2 /(X
F

: =%
S 72
£

FIRST DETERMINE THE CONFIGURATION THAT FITS YOUR ROOM

STAIRS ON THE RIGHT STAIRS ON THE LEFT

STEP1

J'\

U

Assembly configuration for stairs on the right side.

Assembly configuration for stairs on the left side.

STEP 2 l— B

Remove all pre-installed bolts from both sides (10 pcs)
save them for next steps.

STEP 3

align holes then fasten with previously removed bolts.

2/28/2024 AlS12732-0

Page 52 of 66




ASSEMBLY INSTRUCTIONS

STEP 4

/— B

U

Removed bolts from side panel (2), and from step back panel (2).

save them for next step.

FOR STAIRS ON LEFT

® FOR STAIRS ON RIGHT

S—_-

Assemble step back panel

0 E
& B
(’— J

) A

Assemble side rails.

with 1 1/4 screws then fasten the rest of the pre-bored slats.

2/28/2024

AlS12732-0

Page 53 of 66




ASSEMBLY INSTRUCTIONS

STEP 9 STEP 10

Assemble guardrails and tighten all bolts.
MAKE SURE ALL BOLTS ARE TIGHTENED COMPLETELY Slide 3 drw chest under loft bed

STEP 11

Slide bookcase under loft bed

Use only correct mattress dimensions and Slat roll:
Twin size mattress- 74" - 75" long and 37-1/2" - 38-1/2" wide
Twin size Slat roll- 75 1/4™ long and 39" wide
Full size mattress- 74" - 75" long and 52-1/2" - 53-1/2" wide
Full size Slat roll- 75 1/4" long and 54" wide

PLEASE CONTACT YOUR RETAIL STORE WITH SERVICE OR PARTS REPLACEMENT REQUEST

2/28/2024 AIS12732-0 Page 54 of 66




PARTS LIST

3651123P FULL LOW LOFT W/STEP END, CHEST & DESK  D-IRON ORE

RTGSKU#| STYLE# ITEM DESCRIPTION

36511233 | 12D-163 REVERSIBLE LOW LOFT STEP UNIT

36111235| 12D-165 FULL LOW LOFT SIDE PANELS

36211237 | 12D-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS

36011233 | 12D-703 FULL LOW LOFT BUNK END

36911281 100-171 12 PC FULL SLAT ROLL

36611235| 12D-403 3 DRW CHEST

36711237 | 12D-602 CASTER DESK

3651124P FULL LOW LOFT W/STEP END, CHEST & DESK E- SLATE BLUE

RTG SKU#| STYLE# ITEM DESCRIPTION

36511245| 12E-163 REVERSIBLE LOW LOFT STEP UNIT

36111247 | 12E-165 FULL LOW LOFT SIDE PANELS

36211249 12E-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS

36011245 12E-703 FULL LOW LOFT BUNK END

36911281 100-171 12 PC FULL SLAT ROLL

36611247 | 12E-403 3 DRW CHEST

36711249 | 12E-602 CASTER DESK

3651125P FULL LOW LOFT W/STEP END, CHEST & DESK G- LIGHT GRAY

RTGSKU#| STYLE# ITEM DESCRIPTION

36511257 | 12G-163 REVERSIBLE LOW LOFT STEP UNIT

36111259 12G-165 FULL LOW LOFT SIDE PANELS

36211251| 12G-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS

TWO PEOPLE ARE NEEDED TO ASSEMBLE 36011257 | 12G-703 FULL LOW LOFT BUNK END

DO NOT TIGHTEN COMPLETELY UNTIL ALL PIECES 36911281 100-171 ] 12PCFULL SLAT ROLL

ARE CONNECTED TOGETHER 36611259 | 12G-403 3 DRW CHEST

36711251| 12G-602 CASTER DESK

3651126P FULL LOW LOFT W/STEP END, CHEST & DESK W- WHITE

PARTS LIS Qry PARTS LIS Qry RTG SKU#| STYLE# ITEM DESCRIPTION
— e 36511269 | 12W-163 | REVERSIBLE LOW LOFT STEP UNIT
1 2 Pes jL —f—__--.l 36111261| 12W-165 | FULL LOW LOFT SIDE PANELS
7 == 1 Pes 36211263 | 12W-732 | 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
= 36011269 | 12W-703 | FULL LOW LOFT BUNK END
sy L =J 36911281| 100-171 | 12 PC FULL SLAT ROLL
2 2 Pes Low loft step unit 36611261| 12W-403 | 3 DRW CHEST
p—— 36711263 | 12W-602 | CASTER DESK
Guardrail ’ T
I
8 ] 1 Pcs
3 1 Pes n 3651127P FULL LOW LOFT W/STEP END, CHEST & DESK __ A- PINK
——F RTG SKU # STYLE # ITEM DESCRIPTION
Slat roll Right step back panel 36511271| 12A-163 | REVERSIBLE LOW LOFT STEP UNIT
—_— - - 36111273| 12A-165 | FULL LOW LOFT SIDE PANELS
] 1 1 36211275| 12A-732 | 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
4 1P 1P 36011271| 12A-703 | FULL LOW LOFT BUNK END
cs |9 ] cs 36911281| 100171 | 12 PC FULL SLAT ROLL
U i e 36611273 | 12A403 | 3 DRW CHEST
Low loft bunk end Left steB back ganel 36711275| 12A-602 CASTER DESK
5 1Pcs |10 1 Pcs
Steg angle side Eanel
6 1 Pcs 11 1 Pcs W
— Nl T —PhMps screwdriver (nof ncluded) |
Step side panel Caster desk 0::):’

4 mm allen wrench (included)

—

5 mm allen wrench (included)

2/28/2024 AlIS12732-0 Page 55 of 66




HARDWARE

LIST

T2-732 2TC OIOE RAILS W/ 2 TULL LENG TH RAILS

12-403 LOW LOFT STEP UNIT

Hardware pack
location

O

Gold knobs  3x

B

5 mm allen wrench 1x

J

4 mm allen wrench 1x

5/16-18x40mm bolt 14x

T00-170 12.°C FOLL SLAT ROLL

Hardware pack

Hardware
location

Installed

g

Caster socket  6x

Hardware pack
location

c location
6 x11/4" Screw__10x
12-164 TWIN LOW LOFT SIDE PANELS
- Hardware pack
E location
1/4-20X30mm bolt  2x
Hardware —
location
Installed /
Hardware
location
L Installed
U ——
B
U
12-403 CHEST
F
Gold pulls _2x
G
vy
Gold knobs _2x
Hardware pack
location
|
12-602 CASTER DESK
L A
s,
i._/:
Caster 6x
K

2/28/2024 AIS12732-0

Page 56 of 66




ASSEMBLY INSTRUCTIONS

TIPS : SEE ILLUSTRATION BELOW

1- Use the long end of the allen wrench to fasten bolts locsely and quickly.
2- Use the short end of the allen wrench for final tightening

TIPS #1

ﬁ %\/X TIPS #2 /(X
F

: =%
S 72
£

FIRST DETERMINE THE CONFIGURATION THAT FITS YOUR ROOM

STAIRS ON THE RIGHT STAIRS ON THE LEFT

STEP1

Assembly configuration for stairs on the right side.

STEP 2

Assembly configuration for stairs on the left side.

& B

Remove all pre-installed bolts from both sides (10 pcs)
save them for next steps.

STEP 3

align holes then fasten with previously removed bolts.

2/28/2024 AlS12732-0

Page 57 of 66




ASSEMBLY INSTRUCTIONS

STEP 4

/— B

U

Removed bolts from side panel (2), and from step back panel (2).
save them for next step.

FOR STAIRS ON LEFT

@ FOR STAIRS ON RIGHT

~—_ i

Assemble step back panel

0 E
/- B
l— J

~——-

- ——-

A

& B !

Assemble side rails.

with 1 1/4 screws then fasten the rest of the pre-bored slats.

2/28/2024

AlS12732-0

Page 58 of 66




ASSEMBLY INSTRUCTIONS

STEP 9 f— p|STEP10

U

Assemble guardrails and tighten all bolts.
MAKE SURE ALL BOLTS ARE TIGHTENED COMPLETELY Slide 3 drw chest under loft bed

STEP 11 E K |STEP12

Slide caster desk under loft bed

2/28/2024 AIS12732-0 Page 59 of 66




Use only correct mattress dimensions and Slat roll:

Twin size mattress- 74" - 75" long and 37-1/2" - 38-1/2" wide
Twin size Slat roll- 75 1/4™ long and 339" wide

Full size mattress- 74" - 75" long and 52-1/2" - 53-1/2" wide
Full size Slat roll- 75 1/4" long and 54" wide

PLEASE CONTACT YOUR RETAIL STORE WITH SERVICE OR PARTS REPLACEMENT REQUEST

2/28/2024

Page 60 of 66




PARTS LIST

[3661123P FULL LOW LOFT W/ISTEP END,CHEST DESK&BOOKCASE _D-IRON ORE__|
RTGSKU#| STYLE# ITEM DESCRIPTION

36511233 12D-163 [ REVERSIBLE LOW LOFT STEP UNIT

36111235[ 12D-165 [ FULL LOW LOFT SIDE PANELS

36211237 12D-732 [ 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS

36011233 | 12D-703 [ FULL LOW LOFT BUNK END

36911281 [ 100-171 12 PC FULL SLAT ROLL

36611235| 12D-403 [ 3 DRW CHEST

36911231 12D-762 [ 57" BOOKCASE

36711237 | 12D-602 [ CASTER DESK

[F667124P FULL LOW LOFT WISTEP END,CHEST DESKEBOOKCASE E-SLATE BLUE |
RTG SKU#| STYLE# ITEM DESCRIPTION

36511245| 12E-163 REVERSIBLE LOW LOFT STEP UNIT

36111247 | 12E-165 FULL LOW LOFT SIDE PANELS

36211249 12E-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS

36011245 12E-703 FULL LOW LOFT BUNK END

36911281 100-171 12 PC FULL SLAT ROLL

36611247 | 12E-403 3 DRW CHEST

36911243 | 12E-762 57" BOOKCASE

36711249 12E-602 CASTER DESK

[F66T125P FULL LOW LOFT W/STEP END,CHEST DESKGBOOKCASE G-LIGHT GRAY |
RTGSKU#| STYLE# ITEM DESCRIPTION

36511257 12G-163 [ REVERSIBLE LOW LOFT STEP UNIT

36111259 12G-165 | FULL LOW LOFT SIDE PANELS

36211251 12G-732 [ 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS

TWO PEOPLE ARE NEEDED TO ASSEMBLE 36011257 | 12G-703 FULL LOW LOFT BUNK END
DO NOT TIGHTEN COMPLETELY UNTIL ALL PIECES 36911281 100-171 | 12PCFULL SLATROLL

ARE CONNECTED TOGETHER 36611259 | 12G-403 3 DRW CHEST
36911255| 12G-762 57" BOOKCASE

36711251 12G-602 CASTER DESK

——_—_
[3661126P FULL LOW LOFT W/STEP END,CHEST DESK&BOOKCASE W-WHITE

PARITS LIS Q 1Y PARTS LIST ( ! TY RTG SKU#| STYLE# ITEM DESCRIPTION
I I
o 36511269 | 12W-163 REVERSIBLE LOW LOFT STEP UNIT
1 2 Pcs JL i -|\ 36111261 | 12W-165 FULL LOW LOFT SIDE PANELS
7 T | 1Pcs 36211263 | 12W-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
———y 36011269 | 12W-703 FULL LOW LOFT BUNK END
s |1 =_=J 36911281 | 100-171 12 PC FULL SLAT ROLL
2 2 Pes Low loft steg unit 36611261 | 12W-403 3 DRW CHEST
—_ 36911267 | 12W-762 | 57" BOOKCASE
Guardrail ’ T 36711263 | 12W-602 | CASTER DESK
I
. e e
3 1Pcs 8 | 1Pcs [3661127P FULL LOW LOFT W/STEP END,CHEST DESK&BOOKCASE A-PINK
D RTG SKU#| STYLE# ITEM DESCRIPTION
Slat roll Right steg back Banel 36511271 | 12A-163 REVERSIBLE LOW LOFT STEP UNIT
B
= - 5 36111273 | 12A-165 FULL LOW LOFT SIDE PANELS
) ! b | 36211275 12A-732 4 PC SIDE RAILS W/ 2 FULL LENGTH RAILS
4 1Pcs 9 1 Pcs 36011271 12A-703 FULL LOW LOFT BUNK END
J’ 36911281 100-171 12 PC FULL SLAT ROLL
(1] v T 36611273 | 12A-403 3 DRW CHEST
Low loft bunk end Left steB back ganel 36911279 12A-762 57" BOOKCASE
- 36711275 12A-602 CASTER DESK
5 1Pcs |10 1 Pcs
Steg angle side Eanel
6 1Pcs |11 1 Pcs
e Phillips screwdriver (not included)
Step side panel 0::):’
4 mm allen wrench (included)
12 1Pc &)
T o 5 mm allen wrench (included)
Caster desk ‘z
I

2/28/2024 AlS12732-0 Page 61 of 66




HARDWARE

LIST

B

5 mm allen wrench 1x

T e—

4 mm allen wrench 1x

T2-732 2TC OIOE RAILS W/ 2 TULL LENG TH RAILS

12-403 LOW LOFT STEP UNIT

Hardware pack
location

O

Gold knobs  3x

5/16-18x40mm bolt 14x

T00-170 12.°C FOLL SLAT ROLL

Hardware pack

Hardware
location

Installed

g

Caster socket 6x

Hardware pack
location

c @S‘W location
6 x11/4" Screw__10x
12-164 TWIN LOW LOFT SIDE PANELS
E Hardware pack
location
1/4-20X30mm bolt  2x =3
Hardware -
location /
D
Hardware
location
o Installed
U
o
U
12-403 CHEST
F
Gold pulls  2x
G
vy
Gold knobs _2x
Hardware pack
location
|
12-602 CASTER DESK
L A
s
i._/:
Caster 6x
K

2/28/2024

AlS12732-0

Page 62 of 66




ASSEMBLY INSTRUCTIONS

TIPS : SEE ILLUSTRATION BELOW

2- Use the short end of the allen wrench for final tightening

TIPS #1

ﬁ %\/X TIPS #2 /(X
F

: =%
S 72
£

1- Use the long end of the allen wrench to fasten bolts locsely and quickly

FIRST DETERMINE THE CONFIGURATION THAT FITS YOUR ROOM

STAIRS ON THE RIGHT STAIRS ON THE LEFT

STEP1

Assembly configuration for stairs on the right side.

STEP 2

Assembly configuration for stairs on the left side.

& B

Remove all pre-installed bolts from both sides (10 pcs)

STEP 3

save them for next steps.

align holes then fasten with previously removed bolts.

2/28/2024 AlS12732-0

Page 63 of 66




ASSEMBLY INSTRUCTIONS

STEP 4 /= B

U

- Removed bolts from side panel (2), and from step back panel (2).
Repeat process for angle side panel. save them for next step.

@ FOR STAIRS ON RIGHT

FOR STAIRS ON LEFT

~——-

~a_ L

Assemble step back panel

- ——-

A

(— B !

Assemble side rails. with 1 1/4 screws then fasten the rest of the pre-bored slats.

2/28/2024 AlIS12732-0 Page 64 of 66




ASSEMBLY INSTRUCTIONS

STEP 9

Assemble guardrails and tighten all bolts.

U

MAKE SURE ALL BOLTS ARE TIGHTENED COMPLETELY

STEP 10

Slide 3 drw chest under loft bed

STEP 11

STEP 12

Install casters in all desk posts

Slide caster desk under loft bed

2/28/2024

AlS12732-0

Page 65 of 66




Use only correct mattress dimensions and Slat roll:

Twin size mattress- 74" - 75" leng and 37-1/2" - 38-1/2" wide
Twin size Slat roll- 75 1/4™ long and 39" wide

Full size mattress- 74" - 75" long and 52-1/2" - 53-1/2" wide
Full size Slat roll- 75 1/4" long and 54" wide

PLEASE CONTACT YOUR RETAIL STORE WITH SERVICE OR PARTS REPLACEMENT REQUEST

2/28/2024

Page 66 of 66







